Under the Uttar pradesh Higher Education Renovation Mission in colleges, permission is given to spe caution money amount deposited in the college till March 31, 2019 for establishment of smart classes, upgradation of laboratories and arrangement of technical and scientific books.

शिक्षा डिग्री विकास अनुभाग प्रयागराज।

सेवा में.

प्राचार्य. एम0 एम0 एच0 कालेज. गाजियाबाद।

पत्रांकः डिग्री विकास

/33107 /2022-23

दिनांक -21/9/22

विषय:-अशासकीय सहायता प्राप्त महाविद्यालयों में हायर एजूकेशन रेनोवेशन मिशन के अन्तर्गत स्मार्ट क्लास की स्थापना, प्रयोगशाला उच्चीकरण तथा तकनीकी एवं वैज्ञानिक पुस्तकों हेतु काशनमनी की धनराशि व्यय किये जाने की अनुमति के संबंध में।

महोदय.

उपर्युक्त विषयक शासनादेश संख्या-1191 / सत्तर-5 / 2022-27 / 2022 10 अगस्त 2022 कार्यवृत्त के बिन्दु 5 में उल्लिखित प्रावधानों के तहत अशासकीय सहायता प्राप्त महाविद्यालयों में हायर एजूकेशन रेनोवेशन मिशन के अन्तर्गत स्मार्ट क्लास की स्थापना प्रयोगशाला उच्चीकरण तथा तकनीकी एवं वैज्ञानिक पुस्तकों की व्यवस्था हेतु महाविद्यालय में 31 मार्च 2019 तक जमा काशनमनी की धनराशि निम्न विवरणानुसार व्यय किये जाने की अनुमति निम्न शर्तो के अधीन प्रदान की जाती है:-

1-प्रश्नगत कार्य हेतु धनराशि का उपयोग नियमानुसार किया जायेगा।

2-किसी भी प्रकार की वित्तीय अनियमितता का उत्तरदायित्व महाविद्यालय के प्राचार्य का

3-उक्त संबंधित समस्त कार्य जेम पोर्टल के माध्यम से किये जायेगें।

काशनमनी में जमा धनराशि	स्मार्ट क्लास की स्थापना हेतु व्यय की अनुमति दी जाने वाली धनराशि	प्रयोगशाला उच्चीकरण (प्रयोगशाला उपकरण हेतु) व्यय की अनुमति दी जाने वाली धनराशि	तकनीकी एवं वैज्ञानिक पुस्तकों के क्रय हेतु व्यय की अनुमति दी जाने वाली धनराशि	कुल व्यय की अनुमित दी जाने वाली धनराशि
5000000	1782000	2607538	125328	4514866

उपरोक्त के अतिरिक्त यह भी अवगत कराना है कि रेनोवेशन मिशन के अन्तर्गत कि गये कार्य संबंधी उपभोग प्रमाण पत्र सी० ए० से प्रमाणित कराकर इस कार्यालय को उपलब्ध कराना अनिवार्य है।

> डॉ० (सुनन्दा चतुर्वेदी) संयुक्त निदेशक (उच्च शिक्षा) कृते शिक्षा निदेशक (उ०शि०) उत्तर प्रदेश, प्रयागराज

पृष्टांकन सं0-डिग्री विकास/ / उसी तिथि को। प्रतिलिपि-क्षेत्रीय उच्च शिक्षा अधिकारी, मेरठ को सूचनार्थ एवं आवश्यक कार्यवाही हेत् प्रेषित।

GHAZIABAD.

डॉ० (सुनन्दा चतुर्वेदी) संयुक्त निदेशक (उच्च रिस् कृते शिक्षा निदेशक (उ०रिक) उत्तर प्रदेश प्रयागराज

MMH-GZ

Development work in the college by M.M.H. College Alumni Fund (Caution Money)

S.No. Date		Bill.no.	Developme nt Work	Agency Details/Bill No/ Letter No.	Cost(Rupe
1	28-01-2023	170	Projector	Shivam Enterprises , shiva tower Ghazaibad	72000
2	23-02-2023	180	CLT	Shivam Enterprises , shiva tower Ghazaibad	165000
3	23-02-2023	181	PLT	Shivam Enterprises , shiva tower Ghazaibad	165000
4	30-12-2022	250	Chemistry Labs	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	884010
5	19-01-2023	261	Projectors in smart classes	Shivam Computers Shiva Tower Ghaziabad	100870
3	23-02-2023	263	Projector-s mart class	Shivam Computers Shiva Tower Ghaziabad	228119
,	17-01-2023	267	Electrical accessories	Ayush Sharma , Civil,Electric,Sanitary Contractor, swaranjyanti Puram ,Ghaziabad	18498
	23-02-2023	267	Projector	Shivam Enterprises , shiva tower Ghazaibad	228119
•	14-04-2023	275	Physics Department	Shivam Computers	196640
)	14-04-2023	276	Smart Classes (PLT , CLT)	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	226720
	18-02-2023	282	Zoology department	Ayush Sharma , Civil,Electric,Sanitary Contractor, swaranjyanti Puram ,Ghaziabad	178238
	26-02-2023 Psychology Department Psychology Civil, Electric, Sanitary Contractor, swaranjyanti Puram Ghaziabad Ayush Sharma , Civil, Electric, Sanitary Contractor, swaranjyanti Puram Ghaziabad		123053		

The solution of the state of th

MMH-GZ8

NOHAM + 048

3	16-02-2023	304	Department	Abhishek Sharma, Interior Decorator & Civil Contractor, Ghaziabad	230060
14	22-02-2023	307	CLT,PLT gates	Abhishek Sharma, Interior Decorator & Civil Contractor, Ghaziabad	80468
15	10-12-2022	446	Chemistry Lab	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	121055
16	10-01-2023	493	Physics Department	Abhishek Sharma, Interior Decorator & Civil Contractor, Ghaziabad	60960
17	02-11-2022	725	Physics Lab	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	187149
18	22-12-2022	736	Zoology Lab	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	217096
19	15-12-2022	740	Chemistry Department	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	169449
20	16-02-2023	767	Botany Department	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	72000
21	24-03-2023	779	Zoology Department	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	231400
22	15-05-2023	796	Chemistry Department	Dinesh Kumar Sharma Contractor & Interior Decorator, Shastri Nagar Ghaziabad	67200
				Total Amount	4023104





3. Subject to 'Uttar Pradesh' Jurisdiction only.

GSTIN : 09AERPC3034M1Z9 Original Copy TAX INVOICE SHIVAM ENTERPRISES SHOP NO. G-21, GROUND FLOOR,, SHIVA TOWER, G.T. ROAD, GHAZIABAD-201001 : Uttar Pradesh (09) Invoice No. Place of Supply 180 Date of Invoice : N 23-02-2023 Reverse Charge Billed to : Shipped to : CLT MMH COLLEGE MMH COLLEGE MODEL TOWN, GHAZIABAD MOEL TOWN, GHAZIABAD GSTIN / UIN GSTIN / UIN Amount(*) SGST SGST **CGST** CGST Qty. Unit Price HSN/SAC S.N. Description of Goods **Amount** Rate Rate | Amount Code 1,65,000.00 1,28,906.24 24.69 % 18,045.88 14.00 % 18,046.88 Page No-59 8528 1.00 Pcs. 1. PROJECTOR Heavy Duty Projector, for Big Sige Screen Full Hd, With Hdmi And Vga Port 1,65, 1.00 Pcs. 1,00 **Grand Total** Levs Advance HSN/SAC Tax Rate Taxable Amt. CGST Amt. SGST Amt. **Total Tax** Balance 36,093.76 1,28,906.24 18,046.88 18,046.88 28% 8528 Rupees One Lakh Sixty Five Thousand Only Bank Details: CENTRAL BANK OF INDIA, MODEL TOWN, GZB IFSC:- CBIN0283190 A/C NO. 1950928462 Receiver's Signature : Terms & Conditions for SHIVA E.& O.E. 1. Goods once sold will not be taken back. 2. Interest @ 18% p.a. will be charged if the payment is not made with in the stipulated time. 3. Subject to 'Uttar Pradesh' Jurisdiction only.

TAX INVOICE SHIVAM ENTERPRISES

SHOP NO. G-21, GROUND FLOOR,, SHIVA TOWER, G.T. ROAD,

 GMAZIABAD-201001

 Tel.: 0120-4371273
 Fax: 9810722868 email: shivamenterprisesg@gmail.com

181

nvoice

23-02-2023

Place of Supply

: Uttar Pradesh (09)

: N Reverse Charge

ed to

COLLEGE ODEL TOWN, GHAZIABAD

PLT

Shipped to : MMH COLLEGE

MODEL TOWN, GHAZIABAD

GSTIN / UIN

GST	IN / UIN :				GSTIN / OIN	·				Amount(₹)
	Description of Goods	HSN/SAC Code	Qty.	Unit	Price	CGST Rate	CGST Amount	SGST Rate	SGST Amount	
1.	PROJECTOR Page No. 59 Heavy Duty Projector, for Big Sige Screen, Full Hd, With Hdmi And Vga Port		1.00	Pcs.	1,28,906.24	i4.00 %	18,046.88	14.00 %	18,046.88	1,65,000.00
and the second	Lee William	- Val	art							
	100 13 sub									

Grand Total

1.00 Pcs.

1,65,000.00

28%

HSN/SAC Tax Rate Taxable Amt. CGST Amt. SGST Amt. 1,28,906.24 18,046.88 18,046.88

Total Tax

NHARI

36,093.76

Less advance Balonel

65000

ignatory

Rupees One Lakh Sixty Five Thousand Only

Bank Details: CENTRAL BANK OF INDIA, MODEL TOWN, GZB

A/C NO. 1950928462

IFSC:- CBIN0283190

Terms & Conditions

E.& O.E.

1. Goods once sold will not be taken back.

2. Interest @ 18% p.a. will be charged if the payment

is not made with in the stipulated time.

3. Subject to 'Uttar Pradesh' Jurisdiction only.

Receiver's Signature:

for SHIVAM ENTERPRISES

hedeise

Principal

SHARMA

cric, Sanitary Contractor

-140, Ilnd Floor, Swarnajayanti Puram, Ghaziabad.

ef	N	0	 ٠٠٧	đn.	25	'n			٠.					
			Τ,	٧U.	4.3) (J	 	•	••	• •	•	•	•	•

To

The Principal,
M.M.H.College,
Ghaziabad

Subject: Bill for Gas pipe fitting work Chemistry Deptt.Lab.

S.No.	Particulars	Qty	Unit	Rate	Amount
1.	15mm M.S.Union	26	No.	380/-	Amount 9880.00
	M.Sc. I, II & B.Sc. I, II &III Lab	20	140.	380/-	9880.00 V
2	Gas Valve (Sant make)	22	No	1050/-	23100.00
	M.Sc. I, II & B.Sc. I, II &III Lab			1050/-	25100.00
3	C.P.Nipple Brass	80	No	260/-	20800.00
	M.Sc. I, II & B.Sc. I, II &III Lab			200/	20000.00 V
4	Copper pipe Both side nut Main	45	No	1450/-	65250.00
	line to table				ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν
	M.Sc. I, II & B.Sc. I, II &III Lab				
	Regulator Gas cylinder	20	No	780/-	15600.00
	NRB Valve Gas cylinder Bras	20	No	1860/-	37200.00

MARIJAN COMMH-GZO

contd....2



JSH SHARMA

7982974530

L', Electric, Sanitary Contractor

C-140, Ilnd Floor, Swarnajayanti Puram, Ghaziabad.

Ref.No.....

Date.....

C.100,

--2---

7	C Class M.S.Pipe fitting with	960	rft	348/-	334080.00
	Nipple, Elbow, Socket Tee				
8.	Gas valve table top	5	No	1480/-	7400.00
9	Gas Cock Practical table	140	No	1080/-	151200.00
	M.Sc. I, II & B.Sc. I, II &III Lab				/
10.	M,S.Clip on Wall	50	No	210/-	10500.00
11	M.S.Pipe Clip in Table top	50	No	180/-	9000.00
12	Gas fitting labour charge with	4	No	50000/	200000.00
	varandah			each	. '
	M.Sc. I, II & B.Sc. I, II &III Lab				
,				Total;	884010.00

Rs. Eight lac eighty four thousand ten only.

165 2.5 2.	,	
Tatal answerd	8,84,010=0	for Ayush Sharma
-) T.D.S. @ 2%	17680=00 Ch.No.	009120 Bhsm
	B,66,330=@	Jus.
		Auth.Signatory
) Advance	500,000=00/	-
•	3,66,330=00/) Same

Principal Principal Principal

Charles of S. 3.



SHIVAM Computers

MM M Callings

★ Consumables ★ Internet ★ Hardware
★ AMC ★ Peripherals ★ Software

Shop No. G/21, Shiva Tower, G T Road, GHAZIABAD.

Pin 201 001

Phone: 4371273
E-MAIL:shivamcomputersg21@gmail.com

*****	C+116.31650 -d	Oty Rate AMOUNT Rs. P.					
_	LNO. 261		Date				
S. No.	PARTICULARS	Qty	Rate		P.		
0	Rompector Server Mobisped worder Remode Contocking	12	,295©I~	29,500			
3	Projector Stand Big Mys.	IM.	45001	4500	1		
3	wooden best 3x 25 fitt	1 14.	11,5001	11,500			
9	Lector Two Sleeps and Lector System	1.40.	14,9001				
2	Speakan UXI work Buffer		. PZOCI_	6500			
(4)	Spentar Cald. Heavy put	1 m	15001-				
3	HODM I COLOR YK 10ml	1 14	,	. /			
1	Rouser Cade Double layor	721.11	- 2501-	,			
1	6-16 1924/118			1050	4		
0			15001-	18,000	7		
(2)	. Soustailland Claus	~~~	TOTAL	100870	11		
		370=01	10m H.F /N	WAM COMPUTER	S		
R	IPEES Con Words Co	o lak	£2000	WAIN COM.			

TERMS & CONDITION TO THE SUBJECT TO

1 All Subject to 60 has been taken will claims of shortage & would be taken base @ 24% par annum if

the order hence neither any oe entertained nor the same

Punchol



AN 20 STANDONE CHARLES

RM Computers

Woosial said

★ Consumables ★ Internet ★ Hardware ★ AMC ★ Peripherals ★ Software

> Shop No. G/21, Shiva Tower, G T Road, GHAZIABAD.

Pin 201 001

Phone: 4371273

	A Second		E-MAIL:shiv	ramcomputersg21@gmail.com
47	LL NO. 263		Date	23/2/23
S. No.	PARTICULARS	Qty	Rate	AMOUNT Rs. P.
1	Projector Servers Motorised	110,	56,7004	56,700
(3)	Projector Storial with all Appen	10.	1000/-	7009
E) (M)	Podium MICO With Volumet	14.	63001-	6300
0	HIDMIT COUL UK 20Mb Coppers	١٣,	80001-	8000
6	orn calle 9K 20Mm.	1104	Steel-	5800
(D)	Coet 6 Calolo. Dimo	SoMb	75/M12	. 2250
(8)	P.S. 1000 A Double Bottony	1 Ni.	101800/0	1 /
1	Bettun		92/M2	
(G)	Switch Sochet.	3m.	A12/671	4120
0	Elietric Bettun	814.	250/er	
(E)	HIDMIT & VGA Commence (leav)	2 Ne	2501-	500
(3)	Amplifies. with Blue Tuluid	10.	46601-	46,600
0	Spear parater Bull Hall Handing	40.	Jeach-	28,000
3	Meind Heind		-40/M	9000
36	ALC INStallation of shabic	TOM	-81/W	33,700
	10027 Delicator 100315		TOTAL	222110
Pun	1 228/19=0	2	-JOTAL	425,119
RUP	To Words The	aly es	ght s	
1. Ai has t claim would	If Subject and Juristiction only. 2 Every can atching the order here meither and the taken saw and delivery. 3. Interest will be charged by the same of the same delivery. 3. Interest will be charged by the same of the same	only.	Dr.	VAM COMPUTERS
@ e-1	% per annum if the bills is not peid withindays		rincipal	

180089

AYUSH SHARMA CIVIL, ELECTRIC & SANITARY CONTRACTOR Add.: C-140, IInd Floor, Swarnjayanti Puram, Ghaziabad (U.P.)

S.N	o. 267 4 Tuit		Da	tel. 2.	11/62-
	18 57HG SAG STES ONLY	••••••	<u>57</u>	7 ° 9 9	3
S.No.	PARTICULARS	Qty.	Unit	Rate	Amount P.
(영영영 (영영영영 ()	[E D Rypned Emothy LE D Adu	2010041223	100	500 3901 601 260 261 37	390000
Rupee		SSET	Total	Amoun	104982
*********	fore the distance		For	AYUS	SH SHARMA
E.&O.E. 1. Ali Di:	sputes are subject to Ghaziabad Jurisdiction only \$10 N	cinal		\$1	Auth. Signatory
	The state of the s	649	And And		

SHIVAM Computers

MH Callyge CUT

★ Consumables ★ Internet ★ Hardware ★ AMC ★ Peripherals ★ Software

Shop No. G/21, Shiva Tower, G T Road, GHAZIABAD.

Pin 201 001

Phone: 4371273

E-MAIL:shivamcomputersg21@gmail.com

BIL	L NO. 267	Date.	2 2 2023	
S. No.	PARTICULARS	Qty	Rate	AMOUNT Rs. P.
(3)	Projector Server Malospid	1 mi	56,700-	56,700
(V)	Projector. Stond with all	10.	7000 -	7000
3	Podium Mich Cestavolum a cece control	/w,	63001-	6300
(-6)	HIDMI Call MK 20Mts. Coppu Bours.	1 100	80001-	2800
(m) (m)	VGA cable UK 20Mm.	,	28001-	
(A) (C)	CoxIDO DIDE.	2Mb	, , ,	
(E)(E)(B)	Bettum Switch Socket.	300	112/5T	1245
(A)	FLECTORE BUHUN HDMIL VGA COMMERCON (HERVY ALL)	2W	520/cm	46,600
000	Amplifier with But Tuther All Executive Hough of Bour Hear	H NO Thems	Joseph	23,500
Chalala	Flatine Calola Flating &	18/19	TOTAL	2,28,119

TERMS & CONTITIONS

Subject to Ghaziat der his been sicen while dest der his stortage & dame affain iterest to be an act affain iterest to be according to the bills is not pain within....

der hence neither any artained nor the same iterest will be charged

180086

Principal

Computers

Mrs The Pour extend Man 1-1 Collage (Physics De HI)

★ Consumables ★ Internet ★ Hardware * AMC * Peripherals * Software

Shop No. G/21, Shiva Tower,

G T Road, GHAZIABAD.

Pin 201 001 Phone: 4371273

E.MAII :ahlyamcomputarag21@gmail.com

******	***************************************		and some promote control	imcomputeragz i@gman.com
-	LLNO. 275		Date	17/7/23
S. No.	PARTICULARS	Qty	Rate	AMOUNT Rs. P.
-	Smout Claws Juntallarions with Prajetor Servend Projector, Sound Sapotem			25-10
0	System with Remote, (239)	10.	86,4001	86,400
3	Projector Serren Motoriped	14.	33,000/-	33,000
8	complete Derry Costin Car Physica	IW,	13,8001-	
3	UPS IKUA for Boozup	1 N.	17,4001-	- 17,400
3	Specitary F&D JX1 WOHURS) & Remote.	1Set	19,5001	19,500
0	Spearson Colds. Frequestry	80Mlz	108/MF	- 8640
1	HIDMI COOL YK ISMIN		44001-	4400
8	lan Calolo DUMB	35MH	-: GOIM	2700
9	Lan to USB Connetor	100	7001-	700 V
(2)	fourth California	Zowla	104(34/2	, 2500
0	Power Bettun	3N,	300/ceu	900
12			Sool	
	Que Hen Sochet: Set	240	2001	000
3	Balance CIP to Biel Mo.		TOTAL	196,640
RU	PEES	-	De.	7.

PRINTER SHIVAM COMPUTERS



Ws The Princepal

Computers

★ Consumables ★ Internet ★ Hardware ★ AMC ★ Peripherals ★ Software

Shop No. G/21, Shiva Tower, G T Road, GHAZIABAD.

Pin 201 001

	things of the	scrany	Pin 201 (
S.	LL NO. 273			1919123
No.	PARTICULARS	Qty	Rate	AMOUNT Rs. P.
Y	Bulance BIF from Bill Switch Top Mizz	2w,	Mojes	1,96649
3 (5)		1 1.	200jeu	200
(8)	Projector Stand Adjusted	°150.	.000t	7000
	C Type to HIDM I CONVUM	1 10,	1100	1100
	Colorous Change d'intellars no ître Fleibre fitty of Projector d'intellation	l Trape, de	day of the	21,500
Je e	PRINCIPAL' M.M.H.C. 1998 Ghaziabad 18002.0 4-5-23		TOTAL	2,26,720
RUF	PEES			14

TERMS & CONDITIONS:

For SHIVAM COMPUTERS





MXUSH SHARMA

7982974530

ivil, Electric, Sanitary Contractor

C-140 II	1 1		- 55 5 5 5	
C 740, I	ind Floor	SMAN		m, Ghaziabad.
a.		- warnala	/anti Purai	m Ghaziahad
2			MIICI I GIGI	III. Ullazianau.

Ref.No	.*		
***************************************		Date	

No. 282

18-2-2023

To

The Principal, M.M.H.College, Ghaziabad

Subject: Bill for tile fixing job in Ladies Washroom in Zoology Deptt.

3.No	p. Particulars	Qty	Unit	Rate	Amount
1.	Dismantling of existing toilet floor (Gents)- 1x14'x4'6"= 63 sft	484	sft	35/0	16940.00
	1x4'6"x3'= 13.50				V
	(Ladies) $1x8'x4' = 32 sft$				
	Wall tiles 2x14'x5'=140sft				
7	2x4'6"x5'=40sft				
	2x8'x5' = 80sft				
	2x4'x5' = 40sft				
	2x4'6"x5'=45 sft				
	2x3'x5'=30sft				
2	Diame di				
3	Dismantling damaged W.C	2	Nos	1000/-	2000.00
3	Dismantling damaged Wash	2	Nos	1000/-	2000.00
4	Basin				
5	Dismantling damaged Urinal pot	4	Nos	500/-	2000.00
)	50mm c.c. rodi base for tiles	98	sft	88/-	8624.00
	$1x14^{2}x4^{2}6^{2} = 63 \text{ sft}$				1/
	1x4'6"x3'= 13.50 sft				V
	1x8'x4'= 32.00 sft				
	Badarpur Plaster 1:4 on wall	389	sft	48/-	18672.00
	measurement as per item No.1				V
	Providing and fixing Glazed tiles	484	sft	198/-	95832.00
	on wall with 1:5 sand cement				73032.00
- 1	plaster as per measurement item				\mathcal{V}
	No. 1		-		45

ALIAN COLOR TO

SH SHARMA

7982974530

Date.....

Electric, Sanitary Contractor

C-140, Ilnd Floor, Swarnajayanti Puram, Ghaziabad.

Ref.No	
C. M	

--2--

S.No.	Particulars	Qty	Unit	Rate	Amount
8	Door fitting labour charge, cutting and fixing after repairing.	2	Nos	1000/-	2000.00
9	Welding of Hinges in Chaukhat	3	Nos	250/-	750.00
10	Providing and fixing Odissa Pan 23"	2	Nos	2450/-	4900.00
11	Providing and fixing Wash Basin	1	No	2160/-	2160.00
10	complete 16"x22" W.S.Cistern with band	2	Nos	980/-	1960.00
12		7	Nos.	480/-	3360.00
13	Angle valve	2	Nos	460/-	920.00
14	Short Body bib cock	$\frac{2}{2}$	Nos	460/-	920.00
15	Pillar Cock	2	Nos.	1450/-	2900.00
16	Mirror Glass	8	Nos.	180/-	1440.00
17	PVC connection			100/-	300.00
18	C.P.Jali 125mm	3	Nos	560/-	560.00
19	Waste Jali with waste pipe	1	No		10000.00
20	Labour charge for Gents and	2	Nos	5000/-	10000.00
	Ladies Wash room			Total:	178238.00

Rs. One lac seventy eight thousand two hundred thirty eight only.

Total amount 1,78,238=00

1,78,238=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,70,180081

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,673=00

1,79,

AYUSH SHARMA

Eivil, Electric, Sanitary Contractor

C-140, IInd Floor, Swarnajayanti Puram, Ghaziabad.

Ref No.	e ^k	Date

No. 288

26-2-2023

To

The Principal, M.M.H.College, Ghaziabad

Subject: Bill for Repairing, fixing of tiles with plaster in Psychology Deptt. in college campus.

S.No.	Particulars	Qty	Unit	Rate	Amount
1.	Dismantling of damaged flooring	475	sft	30/-	14250.00
	HOD Room	473	Sit	30/-	14230.00
•	'1x16'6"x12'= 198 sft				Y
1.	Dhale				
	1x4'x1'3"= 5'				
	Washroom flooring				
	1x12'x4'= 48sft				
	Dhale				
	1x3'x1'=3 sft				
1	Varandah flooring				
1	1x11'6"x2'= 23 sft				
	3x4'x1'=12 sft		1 1		
	1x21'x1' = 21sft				
	7x8'x1' = 56 sft				
	1x3'x3' = 9 sft				
	3x11'x3'=-99sft		¥		
2.	Laying floor with 50mm C C 1:2:4	475	sft	88/-	41800.00
	Rodi and cement as per item No.1	,			V
3	Dismantling damaged plaster	419	sft	15/-	6285.00
11	Washroom,				V
	1x8'x6'= 48sft				
	1x13'x4'= 52sft				
	Varandah SSION HARIJA				
1	1x5'x2'=30stt				
	$1x35'x2' = 70sft / M_{A_2}$		1		
	1x35'x2' = 70sft $1x10'x2' = 20sft$				
	(*)	7.2. 0	- 73 1-		

SH SHARMA

7982974530

Alectric, Sanitary Contractor

C-140, IInd Floor, Swarnajayanti Puram, Ghaziabad.

No	 Date
Market 3	

--2---

S.No.	Particulars	Qty	Unit	Rate	Amo	bunt
	HOD Room	`	1		1	1
	1x8''x2'= 16sft			1	- 1	1
	1x4'x2'=8 sft		1		1	1
	Outer					1
	1x15'x5'=75sft		1			1
	2x10'x2' = 40sft				1	1
	1x12'x5' = 60sft					
4	1:5 fine sand plaster.	576	sft	36	/- 2	0736.00
4	Self bottom		1	1	1	V
	1x6'x1'6"= 9sft				1	1
i x	4x2'= 8sft		1		- 1	
•	$1x4^{2} = 651$ $1x4^{2} = 12$ sft			1	1	1
	1x4 x3 -12 sit 1x6'x4'= 24 sft				1	
	$1 \times 3 \times 4 = 24 \text{ sft}$ $1 \times 11' \times 4' = 44 \text{ sft}$		1	.	1	
	1x11 x4 - 44 st $1x20^{\circ}x3^{\circ} = 60st$		- 1		- 1	1
	As per item No.3 measurement		1		- 1	
	As per item No.3 measurement					2000 00
	Dismantling of damaged tiles	96	sf	t	30/- \	2880.00
5.	1x20'x3' = 60sft		1	1	1	<i>y</i> \
	$1x20 \times 3 = 00510$ 1x12'x3' = 36 sft			1		
	1x12 x3 = 30 sh					1000.00
	Dismantling of window	1	1	10	1000/	1000.00
6	Dismanting of Ware				-	12032.00
	Fixing of tiles with Sand	64	1 \s	sft \	188/-	12032.00
7	Fixing of thes was		1			Y
	plaster on wall		1		1	
	1x15'x2' = 30sft		1			
	1x6'x1'= 6sft					
	Self top					
	1x4'x2'=8sft	1				
	1x6'x1'6"=9 sft					
•	0 0 00000000					4.0
	1x3'x1'= 3 sn 1x10'x1'= 10 sft			,		
	[] 3			1		_

Onla laborate

SHARMA

7982974530 Electric, Sanitary Contractor

C-140, IInd Floor, Swarnajayanti Puram, Ghaziabad.

-CNI-		
kef.No	•	Date

S.No.	Particulars	Qty	Unit	Rate	Amount
8	1:5 Badarpur plaster for for tile	64	sft	48/-	3072.00
	base.				V
	Measurement as per item No 7				
					0149 00
9	RCC Slab with Iron bars and CC	21	sft	388/-	8148.00
	rodi and cement.				V
	1x4'6"x2'= 9sft				
÷	1x6'x2'=12 sft				2 500 00
10	Providing and fixing S.S.Sink	1	No.	2600/-	2600.00
•	complete with fittings of S.S.Jali				V
	and waste pipe etc.				
11	Providing and fixing 4" drain	10	rft	325/-	3250.00
	pipe of PVC				γ
12	Repairing, Welding of MS.Gate	2	Nos.	3500/-	7000.00
	alongwith hinges and M.S.Sheet				V
				Total	123053.00

Rs. one lac twenty three thousand fifty three only.

- 4. O. compust	1,23,053=00	Ryuan &
Tetal amount (-) 2% T.DS.	' (1900)	(Ayush Sharma
)	1,20,592 = 0 1800	123
- Latte By	Pay t. Ja	None Lake twenty
3 60 3	ARIJAN COLL MIF & BIF A	Three Shausand
	MMH-GZS OF	1 A
	No No How	PRINCIPAL PRINCIPAL

ABHISHEK SHARMA INTERIOR DECORATOR & CIVIL CONTRACTOR

Bill No. 304

To

The Principal, M.M.H.College, GHAZIABAD.

Mob. 9999172284 Flat No. -C 2, A-33 A Block, Shalimargarden Extn.-II Ghaziabad (U.P.)

Date.....

dated: 16.2.2023

Subject: Bill for Aluminium partition work in Museum of Botany Deptt.

Sl.No.	Particulars	Qty	Unit	Rate	Amount
1	Providing and fixing Aluminium partition of 16G, 50mm x 40mm Aluminium section, powder coating paint, particle board, 6mm plane glass 1x21'3"x12' = 255 sft 1x15'x12' = 180sft	435	sft	520/-	226200.00
2	Providing and fixing Door Closer	1	No	2250/-	2250.00
3	Providing and fixing Aluminium American Handle	2	No.s	360/-	720.00
4	Providing and fixing Chatkani 8"	1	No.	140/-	140.00
5	Providing and fixing locks	1	No,.	750/-	750.00
4				Total:	230060.00

Rs. Two lac thirty thousand sixty only.

(Abhishek Sharma)

Prop.

ABHISHEK SHARMA INTERIOR DECORATOR & CIVIL CONTRACTOR

Mob. 9999172284 Flat No. -C 2, A-33 A Block, Shalimargarden Extn.-II Ghaziabad (U.P.)

Date dated: 22:2:2023

To

The Principal, M.M.H.College, GHAZIABAD.

Subject: Bill for repairing of M.S.Steel gate in CLT & PLT alongwith fixing of New and old gates..

Particulars	Qty	Unit	Rate	Amount
Repairing of old gate with following	74 kg	kg	158/-	11692.00
fittings:				V
2" angles, 24"x2 = 4 sft = 26kgs		1		
1.5" flat 1x6'= 2 ft= 12 kgs				
Iron bars 4x7'= 28sft= 36 kg				
Welding of Chool and Kabja	2	Nos	2000/-	4000.00
Repairing of old gate	1	job	3500/-	3500.00
Gate fixing labour charges	50	sft	100/-	5000.00
Filling of Chool and Hold Fast with	4	Nos.	1000/-	4000.00
1:2:4 CC rodi 2x2				
Providing fixing New M.S.Steel gate	52.50	sft	680/-	35700.00
in PLT with Angle frame and Saria	~			V
Grill.				
1x7'x7'6"	USSION	,		
	Repairing of old gate with following fittings: 2" angles, 24"x2 = 4 sft = 26kgs 1.5" flat 1x6'= 2 ft= 12 kgs Iron bars 4x7'= 28sft= 36 kg Welding of Chool and Kabja Repairing of old gate Gate fixing labour charges Filling of Chool and Hold Fast with 1:2:4 CC rodi 2x2 Providing fixing New M.S.Steel gate in PLT with Angle frame and Saria Grill.	Repairing of old gate with following fittings: 2" angles, 24"x2 = 4 sft = 26kgs 1.5" flat 1x6'= 2 ft= 12 kgs Iron bars 4x7'= 28sft= 36 kg Welding of Chool and Kabja 2 Repairing of old gate 1 Gate fixing labour charges Filling of Chool and Hold Fast with 1:2:4 CC rodi 2x2 Providing fixing New M.S.Steel gate in PLT with Angle frame and Saria Grill.	Repairing of old gate with following fittings: 2" angles, 24"x2 = 4 sft = 26kgs 1.5" flat 1x6'= 2 ft= 12 kgs Iron bars 4x7'= 28sft= 36 kg Welding of Chool and Kabja	Repairing of old gate with following fittings: 2" angles, 24"x2 = 4 sft = 26kgs 1.5" flat 1x6'= 2 ft= 12 kgs Iron bars 4x7'= 28sft= 36 kg Welding of Chool and Kabja Repairing of old gate Gate fixing labour charges Filling of Chool and Hold Fast with 1:2:4 CC rodi 2x2 Providing fixing New M.S.Steel gate in PLT with Angle frame and Saria Grill.

A CAME CARE CA STANDARD OF STA

HISHEK SHARMA

TERIOR DECORATOR & CIVIL CONTRACTOR

Mob. 9999172284 Flat No. -C 2, A-33 A Block, Shalimargarden Extn.-II Ghaziabad (U.P.)

Ref No.

Date.....

Sl.No.	Particulars	Qty	Unit	Rate	Amount		
7	New Gate fixing labour charges	50	sft	100/-	5000.00		
8	Filling of Chool and Hold Fast with	4	Nos	1000/-	4000.00		
	1:2:4 CC rodi 2x2				V		
9	1:5 sand plaster 2x2x2'x2'	16	sft	36/-	576.00		
10	Staff gate repairing with angle,	2	nos.	3500/-	7000.00		
	sheet, hinges etc.				V		
				Total:	80468.00		
Rs. eighty thousand four hundred sixty eight only. When the second of t							
Rs. el	ghty thousand four hundred sixty eigh	nt only.		, , &	WS SVS.		
otal	8. @ 2°/ 1609=00/			Bom			
シアカ	S. @ 2% 1609=00 /	180087	/	' shek Sha	_		

03/03/23 (Abhishek Sharma)

180088 03/3/23

80468=0D1



MYUSH SHARMA

Civil, Electric, Sanitary Contractor

C-140, IInd Floor, Swarnajayanti Puram, Ghaziabad.

Ref.No....

No. 446

To

The Principal, M.M.H.College, Ghaziabad

Subject: Bill for Civil work in Chemistry Deptt. (Fixing of Steel Chaukhat, M.S.Gate & Flush door)

S.No.	Particulars	Qty	Unit	Rate	Amount
1.	Removing of damaged Chaukhat in B.Sc.I, M.Sc. B.Sc. III, M.Sc.I	4	No.	1000	4000.00
	Lab.				
2	Fixing of M.S.Chaukhat- Labour charge	4	No.	1000	4000.00
3	Supply and making M.S.Steel Chaukhat	118	kg	130	15340.00
	B.Sc. I 30 kg				
	H.O.D. 24 kg	-			
	B.Sc., III 25 kg				
4 .	Making M.S.Steel Door double Shutter. 5'x7'	248	Kg	130	32240.00
5	Removing and refixing of Wooden Chaukhat	2	Nos	1500	4000.00
6	Supplying and fixing 35mm Flush wooden door. 2x5'x7'= 70 ft	147	sft	425	62475.00
2	X3'6"x7'= 49 ft				
	1x4'x7'= 28 ft				
Rs. On	e lac twenty two thousand fifty five			Total:	122055.00
only.			1		121,055

alal Amount 2% T.DS.

MYUSH SHARMA

Civil, Electric, Sanitary Contractor

C-140, Ilnd Floor, Swarnajayanti Puram, Ghaziabad.

Ref.No.....

C.M'

No. 446

To

The Principal, M.M.H.College, Ghaziabad Subject: Bill for Civil work in Chemistry Deptt.
(Fixing of Steel Chaukhat, M.S.Gate & Flush door)

S.No.	Particulars	Qty	Unit	Rate	Amount
1.	Removing of damaged Chaukhat in	4	No.	1000	4000.00
	B.Sc.I, M.Sc. B.Sc. III, M.Sc.I	-	110.	1000	4000.00
	Lab.				,
2	Fixing of M.S.Chaukhat- Labour charge	4	No.	1000	4000.00
3	Supply and making M.S.Steel Chaukhat	118	kg	130	15340.00
	B.Sc. I 30 kg				
	H.O.D. 24 kg				
	B.Sc., III 25 kg				
4	Making M.S.Steel Door double	248	Kg	130	32240.00
	Shutter. 5'x7'				\mathcal{V}
5	Removing and refixing of Wooden	2	Nos	1500	4000.00
	Chaukhat				3,000 =
6	Supplying and fixing 35mm Flush	147	sft	425	62475.00
	wooden door.				\vee
	2x5'x7' = 70' ft				
2,	(3'6"x7'= 49 ft				
	1x4'x7'= 28 ft				
Rs. On	e lac twenty two thousand fifty five			Total:	
only.					1,21,055
<u></u>	HARIJANCO		fo	r Ayush	Sharma O

Total Amount 2% T.DS.

1,21,088=00 2,481=00 1,18004=00

Pay R. 121055=00. Auth Signatory

fire only

ChiNo:009118/-

Charles &

ASHISHEK SHARMA INTERIOR DECORATOR & CIVIL CONTRACTOR

Bill. 40 493

To

The Principal, M.M.H.College, GHAZIABAD.

Mob. 9999172284 Flat No. -C 2, A-33 A Block, Shalimargarden Extn.-II Ghaziabad (U.P.)

Date 16/61/02?

Bill for Electrical job in Physics department. Subject:

				Total:	60960.00
8	Labour charge earthing .		job	6000/-	6000.00
7	Wiring and connection in box	58	Nos	450/-	26100.00
<u>6</u>	Salt	30	kg	30/-	900.00
5	Carbon	30	kg	30/-	900.00/
4	Copper Plate	10	Kg	1250/-	12500.00
3	G.I.Gympum patti 25mm	30	rft	180/-	5400.00
2	G.I B-Class pipe 50mm	20	rft	308/-	6160.00
1	Earthing boring 20' deep	20	rft	150/-	3000.00
Sl.No.	Particulars	Qty	Unit	Rate	Amount

Rs. Sixty thousand nine hundred sixty only.

Total amount 60,960=06

1219=00 chilo.180071/ 59,741=00 ch.No.180072-ch.No.180072-pt. 21-01-23

Abhighel

(Abhishek Sharma)

Prop.

30072.

Pay R & 60,960=00 From HF/MF

MMH-GZ

INESH KUMAR SHARMA

nginer, Contractor & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

D 644		
Ret No		

-		

Date 2/11/022

Bill No 725

To,

The Principal M.M.H. College, Ghaziabad

Subject: Bill of Physics Lab. Table Repairing Work

S.No.	Particulars	Qty.	Unit	Rates	Amount
					Rs. P.
1	On the table to fix ply with febicol				
	Mica press				
	12x7'x5' = 420'		1		
	3x6'x4' = 72'	542	sqft	250/-	135500=00
	5x3'4''x2' = 50'		5420		100000
2	100x40mm Table leg with support				,
	5x7' = 35'	·			
	14x5' = 70'	117'	rft	162/-	18954=00
	3x4' = 12'				V
3	25mm sagwan wood four side of	1		1	
	round table				
	12x24' = 288'		1		
	3x20' = 60'	413	rft	35/-	14455=00
	5x13' = 65'				Y
4	19 mm board on table top 7x4'	28'	sqft	180/-	5040=00
5	On the leg of table				
	4x1.5" Koni of wood	120	no	110/-	13200=00
	15x8				. V
		. Total	l amoui	nt	Rs. 1,87,149=00

Rupees One lakh eighty seven one hundred fourty nine only

Rupees One lakh eighty seven one hundred fourty nine only	
Total amount 187,149=00 For DINESH KUMAR SHARMA) 2 % T.D.S. 3743=00 Ch. Nb-009113 Dinest Swamp Auth. Signatory	
Auth. Signatory 183406=60 GN. No. 009114 183406=60 GN. No. 009114 Delich B. C. M. cogning Market	~1
In Words One Lake aighty woods of	1
Oriof order Principal Principal	
Charle Collail. Vs	

H KUMAR SHARMA Lancer, Contractor & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

Ref No....

Date 22 12/022

Bill No. 736

To

The Principal, MMH College, Ghaziabad

Bill for Wooden work in Zoology Deptt.

S.No.	The state of the s	Qty	Rate	Unit	Amount
1	Fixing of Table top with ply and	469	250/-	sft	117250.00
	Mica		250/	Sit	117230.00
	18x8x2'6"				
	2x6'x2'6'' = 360sft				
	1x9'x2'6'' = 22.50sft		-		
	1x9'x3' = 27.00 sft				
	1x3'x2' = 6.00 sft				
	2x2'6"x1'6"=7.50sft				
	Lecture Stand				
	4x2'x2'= 16.00sft	-			
	Stool				
	20x1'6"x12" = 30sft				
2	25mm Half round Gola table top	510	35/-	rft	28050.00
3	6mm ply Drawer close =	219	90/-	sft	19710.00
	4x37 = 148				
	3x16 = 48				
	1x23' = 23				
4	50x25 Support of Sal wood	152	120/-	sft	18240.00
	1x6'x6' = 36sft				\mathcal{V}
	1x10'x4' = 40sft				
	20x3'= 60sft				
	1x16'= 16sft				
5	50x50 Legs of Sal wood 36"	4	1000	No	4000.00
·M;	ON HARIJAN CONTRACTOR OF THE PROPERTY OF THE P				





NESH KUMAR SHARMA

Engineer, Contractor & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

--2---

Date	
------	--

S.No.	Description of work	Qty	Rate	Unit	Amount
6	Providing 19mm table top 8x8'x2'6"	160	180/-	sft	28800.00
7	Dismantling brick work 1x18'x12'	216	25/-	sft	5400.00
8	Fine plaster 1:5 mortar	42	36/-	sft	1512.00
9	Providing Rodi 1:2:4 CC for floor repairing 1x18'x1'	18	88/-	sft	1584.00
10	Wooden Stool repairing	5	250/-	each	1250.00
11	Chair repairing	5	300/-	each	1500.0
				Total	-226296.0 217,090

Rs. two lacs twenty six thousand two hundred ninety six only.

(Dinesh Kumar Sharma)

Total amount 2,17,096=00/
12% T-D.S. 4,342=00/
2,12,754=00/

PAY R. 217096 = 00 TOW II FIM. F

In Words Taro Lacy Elvertico)

MH-GZE

MAR SHARMA

Lucractor & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

Ref No.....

Bill No. 740

Date 15 12 022

To

The Principal, MMH College, Ghaziabad

Bill for Repairing work in Chemistry Deptt.

1	Description of work Dismantling damaged sunshade	Qty	Rate	Unit	Amount
	3x7'3"x2'=43.50 sft	75	3 <u>6/</u> -	sft	2250.00
	3x5'3"x2'= 31.50sft		30/3		
2	Dismantling of damaged window		He Kenit	+	
3	D the state of damaged window	2	1000/-	each	2000.00
5	Providing fine sand plaster 1:5 cement mortar.				/
	coment mortar.			1	
	3x7'3"x2' = 43.50sft				
	3x5'3"x2'= 31.50sft Window				
.	1x10'x7' = 70.00sft				
i	3x7'3"x1'6"=32.63sft				
	3x5'3"x1'6"=23.63 sft				
1	2x7'x2' = 14.00sft				
	1x4'x2'= 8.00sft				
	2x2x2 = 8.00sft				
-	2x7x2'6"= 35.00sft				
	1x5'x1' = 5.00sft				
	1x10'x1' = 10.00sft				
	2x4'x7' = 56.00sft				
	2x7'x2' = 28.00sft				
	1x5'x3'6"= 17.50sft				
	2x7'x2'= 28.00sft				and the same
	1x5'x2'= 10.00sft				
1	M.sc. Lab.				
, ;	1x7'6"x6'6"= 48.00sft				
	1x6'x5'6"= 30.00sft				
]]	1x6'6"x2' 3:00sft		S417	7	
1	1x2'x2'x2' \$\frac{2}{8.00sft}		1		
	3x5'6"x1' 16,50sft contd				1

MAR SHARMA

contractor & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

Ref No....

--2---

Date.....

S.No.	- Puon of Work	04:	D	TT	
	1x3'x1' = 3sft	Qty 891	Rate	Unit	Amount
	2x6'x1' = 12sft	091	36/-	sft	32076.00
	2x1'x2'=4sft				Y
	2x7'x2' = 14sft				
	2x11'x7'6"=165 sft				
	4x2'x9'x1'9"=144sft				
	1x2'x5'6"= 11 sft				
4	Badarpur- neat cement coating	105	55/-	sft	5775.00
	plaster one sunshade top.	103	331-	SIL	3773.00
	3x8'x2'6'' = 60sft				,
	3x6'x2'6''= 45sft				
5	Badarpur Pough plagter 1.5	90.50	407		
	Badarpur Rough plaster 1:5 cement mortar	82.50	48/-	sft	3960.00
6	Providing Brick work 1:6 cement	253 50	220/-	sft	55770.00
	mortar	233.50	220/-	SIL	33770.00
•	2x5'x6' = 60sft				V
	2x7'x1'= 14sft				
	1x5'x1'6"= 7.50sft				
	1x5'x2' = 10sft				
	1x7'x1'=7sft				
	1x4'x1'= 4 sft				
·	1x11'x7'= 77sft				
	1x5'6"x2'= 11 sft				
7	4x9'x1'9"= 63sft				
7	Making RCC sun shade 1:2:4	18.76	388/-	cft	7278.00
	with CC including shuttering, steel bar.)
	3x7'3"x2'x3"=10.80		1		
	3x5'3''x2'x3''= 7.88				
8	Providing and fixing Wash basin	1	3000/-	No	2000 00
	complete 16x22"	1	. 5000/-	140	3000.00
9 ,	Providing and fixing Pillar cock	1	850/-	each	850.00
	JON HARI		3307	Jacin	050.00

contd...

ESH KUMAR SHARMA

agineer Contractor & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

. Ref No

-3-

S.No.	Description of work	Qty	Rate	Unit	Amount
10	Cistern siphon	1	1850/-	each	1850.00
11	Steel door repair with hinges	1	2000/-	job	2000.00
12	Dismantling of sand plaster	736	15/-	sft	11040.00
13	M.S.Glazing Glass Panel M.S.Section 1x20'x3'	60	560/-	sft	33600.00
14	Cutting making window Bottom	4	2000/-	each	0.0008
-				Total:	1,69,449.0

Rs. One lac sixty nine thousand four hundred forty nine only.

Total amount 1,69,449=00 y C)21/0 T.D.S. 3,389=00.

1800 13

1,66,060=00)

(Dinesh Kumar Sharma)

DI ESH KUMAR SHARMA Enterior & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

Date	
------	--

Bill No. 767

16.2.2023

To

The Principal, MMH College, Ghaziabad

Bill for supply of M.S.Stool in Botany Deptt.

S.No.	Description of work	Qty	Rate	Unit	Amount
1	Supply of stool made of 25mm x 25mm M.S.Steel pipe frame with 19mm board with mica finish tops	nos.	1800/-	No.	72000.00
				Total:	72,000

Rs. Seventy two thousand only.

		C. Carl	
- 1 2 conquest	70 ma-17	inew Mon	
- otal continuon	72,000=0	(Dinesh Kumar Sharma)	
Total amount (-) 2% T.D.S.	1440 = 00/ cs.	180078	
	70560=00 y ch.	180080	
,	T. T.	. ^-	(
		on on the Hold the Chery M. to	1
	Pay 7. 72000=00	Do Share (No. 1)	
	(In Words). Affaustord	1 chix	
_ D			

DINESH KUMAR SHARMA Engineer, Contractor & Interior Dectorator

Mob.9717575609 B-2/2 Mahindra Enclave Shastri Nagar Ghaziabad

Ref No

Bill No. 779

To

The Principal,

MMH College, Ghaziabad

12/2/2/2/2/2/2008

24-3-2023

Bill for repairing inside and outside of Zoology deptt.

S.No.	Description of work	Qty	Rate	Unit	Amount
I.	Dismantling damaged plaster inside and outside	2233.50	18/-	sft	40203.00
2	Dismantling Generator Chowki and steel frame.	1 no.	2500/-	job	2500.00
3	Dismantling ventilator	2 No.	1000/-	each	2000.00
4	Dismantling brick work	110 sft	30/-	sft	3300.00
5	Cover of Main hole RCC.	2 Nos.	2500/-	each	5000.00
6	Fine sand plaster 1:5 cement mortar	2233.50	38/-	sft	84873.00
7	Badarpur Rough plaster 1:5 cement mortar.	1067 sft	50/-	sft	53350.00
8.	50 mm C.C.Flooring	22sft	88/-	sft	1936.00
9	Laying Red stone on Top of Nali	8 rft	300/-	rft	2400.00
10	1:3:1.5 Rodi chappai on coloumn, beam and sunshade	148.50	188/-	sft	27918.00
11	First class brick work with 1:6 cement mortar	36 sft	220/-	sft	7920.00
	,			Total:	231400.00

Rs. two lacs thirty one thousand four hundred only.

231400=00

251705.

4628=00

188015

1900-23 (Dinesh Kumar Sharma)

226772=00

180000=900NHAPI/A

Pay * 13/400=00

Alvance

150000=900NHAPI/A

N/F & B/F //O CONSTANCES ONLY

126772=00

180000=900NHAPI/A

Pay * 13/400=00

Alvance

150000=900NHAPI/A

Pay * 13/400=00

Alvance

Pay * 126772=00

Alvance

Pa

Mob.: 9717575609 DILL S.No. M/s VHO UT MUS 21119 MIST S.No. Unit Rate P. Rs. 660003 20 10025 PRIN 66,000 1200 4 672000 **Total Amount** For DINESH KUMAR SHARMA E.&O.E. Auth. Signatory 1. All Disputes are subject to Ghaziabad Jurisdiction only.